
Definitions 

 

interaction energy:  Eint = E(AB,rc)AB – E(A,re) – E(B,re) 

 

BSSE correction:  EBSSE = ΔEcounterpoise = [E(A, rc)AB + E(B, rc)AB] – [E(A, rc) + E(B, rc)] 

 

deformation energy: Edeformation,total = Edeformation(A) + Edeformation(B) = [E(A, rc) – E(A, re)] + [E(B, rc) – E(B, re)] 

 

 

BSSE corrected interaction energy: 

 

Eint,corr = Eint – EBSSE 

Eint,corr = E(AB,rc)AB – E(A,re) – E(B, re) – EBSSE 

Eint,corr = E(AB, rc)AB – E(A, re) – E(B, re) – [E(A, rc)AB + E(B, rc)AB] + [E(A, rc) + E(B, rc)] 

Eint,corr = E(AB, rc)AB – E(A, re) – E(B, re) + [E(A, rc) – E(A, rc)AB] + [E(B, rc) – E(B, rc)AB] 

Eint,corr = E(AB, rc)AB – E(A, rc)AB – E(B, rc)AB + [E(A, rc) – E(A,re)] + [E(B, rc) – E(B, re)] 

Eint,corr = E(AB, rc)AB – E(A, rc)AB – E(B, rc)AB + Edeformation,total 

 

 


